
 

 

                  Ratio medio de pago * Pagos realizados + Ratio medio pendiente de pago * 

Pagos pendientes 

INDICADOR ÚNICO = ---------------------------------------------------------------------------------------

-- 

                                        Pagos realizados + Pagos pendientes 

 

 

          Ratio medio de pago: 0,97 

             Pagos realizados: 469966,10 

 

Ratio medio pendiente de pago: 44,63 

             Pagos pendientes: 111961,49 

 

              INDICADOR ÚNICO: 9,37 


